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I. Questions 1-20 carry 1 mark each. (20)

1. Which of the following is an adaptation mechanism of chameleons?
a) Migration
b) Hibernation
c) Camouflage
d) All of these

2. Which of the given animals has spines on their bodies to protect themselves?

a) Tortoise b) Crocodiles c) Porcupines d) Pangolin

N\

c) Rat d) Dolphin

4. Which of the following is a root?

a) Potato b) Ginger c) Radish d) Turmeric
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5. Which of the labelled parts of the given plant named as the food factory of the plant?

a)P b) Q c)S d) R

6. Find out the false statement
a) Plants depend on the sun for their food.
b) In Tapioca, food is stored in the roots.
c) Hibiscus is a flowering plant.
d) Herbivorous never depends on plants for their food.

7. Which of the following represents a possible food chain?
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8. What would be the sum of 35000 and 6250007

a) 975000 b) 660000
¢) 97500 d) 66600.
9. How can we write 135 in Roman numerals?
a) CXXXV b) CXXX11111
c) CXXXIV d) CXXXVI
10. Which number should you add to 625000 to get a million?
a) 475000 b) 3250000
c) 375000 d) 3750000
11. The product of two numbers is 800. Which are the possible numbers?
a) 40,200 b) 40,25
c) 40,35 d) 40,20
12. Which of the following is a co-prime?
a) 30,20 b) 35,14
c) 25,15 d) 25,21
13. Which of the given fraction is equal to 75/100?
a) 1/2 b) 3/4
c) 2/3 d) 4/3
14. The sum of 1/4 and 3/10 S .....ccevvvvnrrreenn
a) 11/20 b) 4/14
c) 4/20 d) 11/10
15. The difference of 5/6 and 3/4 is .....ccccevvuuueennnn
a) 1/12 b) 2/12
c) 5/24 d) 6/24
16. Which of the following is a prime number?
a) 21 b) 39
c) 19 d) 27
17. Which of the following is a multiple of 9?
a) 19 b) 99
c) 79 d) 89
18. 40 Lakhs+2 Thousands+ 6 Tens+ 5 ONes is .....cccccceerrrennee
a) 40, 20,065 b) 42, 00,065
c) 40, 20,065 d) 40,02,065
19. Which is the next number? 1, 4, 9, 16, ........... ?
a) 24 b) 36
c) 25 d) 20

20. How many 3 digit numbers can be formed using 5,6 and 9 without repeating the digits?
a)6 b) 3
c)9 d) 4




I1. Questions 21-43 carry 2 marks each. (46)

21.123=6
234=24
345=60 then what is 567?
a) 18 b) 37
c) 210 d) 77
22. Which of the following number is in between 465272 and 455272
a) 485272 b) 458272
c) 469272 d) 470000
23. Which of the following is not a factor of 48?
a)6 b) 12
c) 16 d) 18

24. Teacher asked to add 1456 to a number. But Anoop added 1645 to that number.
What is the difference of the answer Anoop got, to the correct answer?

a) 199 b) 189
c) 198 d) 200
25. Which fraction is to be added to 1/2+1/4+1/8 to get 1?
a)1/2 b) 1/8
c)1/4 d) 200
26. The dress of the girl can be written as .....................

a) The dress’s girl. b) The girls dress.
c) The girl’s dress. d) The girlses dress.

27. Feminine gender of ‘Hero’ is ....ccccceeeuvennnees
a) Lady Hero b) Actress
c) Heroine d) Heress
28. e is the plural of "Baby’.
a) Babys b) Babees
c) Babis d) Babies.
29. s is my niece.
a) Students b) Simona
c) Simon d) Police man

30. 'Witch' is the feminine form of ..................

a) Crook b) Witches
c) Wizard d) Magician
31. My younger sister is a mischievous child. The underlined word means ........................
a) Good b) Naughty
c) Beautiful d) Obedient

32. My elder brother is a brave boy. The antonym of the underlined word is ..........cccucueuneees
a) Fearless b) Strong
c) Bold d) Coward
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One word for “killing someone” is .......ccoeeveerrcnciunnas

a) hurt b) death c) kidnap d) murder
This is a man-made cave. The underlined word doesn’t mean .........ccue.n...
a) Synthetic b) Artificial c) Natural d) Duplicate

Find the pair of antonyms from the following.
a) Victory — Success b) Ready — Set
c) Silent — Violent d) Simple — Easy

Lami danced very beautifully on the wedding stage. The underlined word is a / an .................
a) Verb b) Adverb c) Adjective d) Noun

I have a lovable mother. The underlined word is a/an .........cveeeereveececreennnnens
a) Verb b) Adverb c) Adjective d) Noun

Neither Anu nor Anju wants to dance on the stage. The conjunction in this sentence is ............
a) Neither b) Nor c) Neither nor d) on

Which of the following is not the use of Internet?
a) Production of goods b) Searching information
c) Payment of bills d) Sending messages

URL stands for .....ccccccevvenennneee.
a) Uniform Research Locator b) Uniform Research Limited
¢) Uniform Resource Locator d) Ultra Resource Locator

.......................... is the unit of measurement of computer storage.
a) Bites b) Bytes
c) Joules d.Nanos

Which of the following is a disadvantage of internet?
a) Worldwide communication b) Providing massive information
c) Cyber attack d) All of these

Bill Gates and Paul Allen are the founders of .........ccccccceeveeecreecnenee.
a) Whatsapp b) Facebook
c) Google d) Microsoft

I11. Questions 44-53 carry 1.5 marks each. (15)

44,

45.

46.

ABCD:=-------- ? :: PQRS: SRPQ.
a) BCDA b) CBDA
c) DCAB d) DCBA

AZ, AZZ, ----- , AZZ7Z, ------- ?
a) AZz7z, A7777 b) AzzzZ, AZZ7
c) AZZZ, AZ7777 d) AZz7z, AZ777

Liquid : Water :: ? : Ice.
a) Vapour b) Hard
c) Gas d) Solid
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48. The word that can’t be made from the letters of ‘CHOCOLATE is ......
a) COLD b) EAT c) CHAT d) LATE

49. SPTO can make the meaningful word/s; ...............
a) Spat b) Stop c) Spot d) Both (b) and (c)

50. Wait, White, Wear & Way can be arranged in ascending order as ;
a) Wait, White, Wear, Way  b) Wait, Wear, White, Way
c) Wait, Way Wear, White  d) Wait, Way, White, Wear

51. If Flower means Leaf, Leaf means Stem, Stem means Root and Roots means Seed,
then which part of the plant grows under ground?
a) Root b) Stem c) Seed d) Flower

52.In a certain code SCHOOL is written as SL and GRASS is written as GS,
then how can we write PAPER?
a) PA b) PP c) PE d) PR

53. If West is called North, North is called East, East is called South and South is called West,
then in which direction the sun sets?
a) South b) East c) West d) North

IV. Questions 54-58 carry 1 mark each. (5)
State True / False

54. Midrib is the plane, broad part of a plant leaf.
a) True b) False

55. In an improper fraction the Numerator is not greater than the Denominator.
a) True b) False

56. Cereals are rich source of Proteins.
a) True b) False

57. Kerala has Forty Districts.
a) True b) False

58. Breast milk is the only single food having all the nutrients we need.
a) True b) False




59. Complete the drawing and colour it appropriately.
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60. Colour the picture appropriately.
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